

Logarithmic DPPS-1 solution

$$\textcircled{1} \log_2 32 = ?$$

$$\log_2 2^5 = \frac{5}{1} (\log_2 2) = 5 \times 1 = 5$$

$$\textcircled{2} \log_{\sqrt{8}} x = 3\frac{1}{3}$$

$$\log_{\sqrt{8}} x = \frac{10}{3}$$

$$x = (\sqrt{8})^{\frac{10}{3}}$$

$$x = (2^{\frac{3}{2}})^{\frac{10}{3}} = 2^5 = 32$$

$$\textcircled{3} \log_{100} (0.1)$$

$$\log_{10^2} 10^{-1} = -\frac{1}{2} (\log_{10} 10) = -\frac{1}{2}$$

$$\textcircled{4} \log_2 (\log_3 3^4)$$

$$\log_2 (4 \log_3 3)$$

$$= \log_2 (4 \times 1) = \log_2 4 = \log_2 2^2 = 2 (\log_2 2) = 2$$

$$\textcircled{5} (\log_3 5) (\log_{25} 27)$$

$$\log_3 5 \times \log_{5^2} 3^3$$

$$(\log_3 5) \times \frac{3}{2} (\log_5 3)$$

$$\boxed{\frac{3}{2}}$$

$$\textcircled{6} \log_{10} 2 = 0.301$$

$$\log_{10} 25 = \log_{10} 5^2$$

$$= 2 \log_{10} 5$$

$$= 2 [\log_{10} (10/2)]$$

$$= 2 [\log_{10} 10 - \log_{10} 2]$$

$$= 2 [1 - 0.301]$$

$$= 2 \times 0.699 = 1.398$$

$$\textcircled{7} \log_3 9 + \log_5 25 + \log_2 8$$

$$\log_3 3^2 + \log_5 5^2 + \log_2 2^3$$

$$2(\log_3 3) + 2(\log_5 5) + 3(\log_2 2)$$

$$2 + 2 + 3 = 7$$

$$\textcircled{8} \log_2 (\log_5 625)$$

$$\log_2 (\log_5 5^4)$$

$$\log_2 (4 \log_5 5)$$

$$\log_2 2^2$$

$$2(\log_2 2)$$

$$= 2 \times 1 = 2$$

$$\textcircled{9} \log (\tan 1^\circ) + \log (\tan 2^\circ) + \dots + \log (\tan 89^\circ)$$

$$\log (\tan 1^\circ \tan 2^\circ \tan 3^\circ \dots \tan 89^\circ)$$

$$\log (\underbrace{\tan 1^\circ \tan 89^\circ}_1 \underbrace{\tan 2^\circ \tan 88^\circ}_1 \dots)$$

$$\log (1) = 0 \quad \because \text{If } A+B=90^\circ, \tan A \tan B = 1$$

$$\textcircled{10} \log_9 x - \log_9 \left(\frac{x}{10} + \frac{1}{9} \right) = 1$$

$$\log_9 x - \log_9 \left(\frac{9x+10}{90} \right) = 1$$

$$\log_9 \left(\frac{x}{\frac{9x+10}{90}} \right) = 1$$

$$\frac{90x}{9x+10} = 9$$

$$10x = 9x + 10$$

$$\boxed{x = 10}$$

$$\textcircled{11} \log_a mn = \log_a m + \log_a n$$



$$\begin{aligned} \textcircled{12} \quad & \log_{10} 10 + \log_{10} 10^2 + \log_{10} 10^3 + \dots + \log_{10} 10^n \\ & \log_{10} 10 + 2\log_{10} 10 + 3\log_{10} 10 + \dots + n\log_{10} 10 \\ & (\log_{10} 10) [1+2+3+\dots+n] \\ & \quad \quad \quad \frac{n(n+1)}{2} \end{aligned}$$

$$\begin{aligned} \textcircled{13} \quad & \log_{10} 40000^2 - \log_{10} 4 \\ & \log_{10} \frac{40000^2}{4} \quad \left[\log_a m - \log_a n = \log_a \left(\frac{m}{n} \right) \right] \\ & \log_{10} 10000 = \log_{10} 10^4 = 4 \end{aligned}$$

$$\begin{aligned} \textcircled{14} \quad & \log_{10} 2x = 1 \\ & 2x = 10^1 \\ & 2x = 10 \\ & \boxed{x = 5} \end{aligned}$$

$$\begin{aligned} \textcircled{15} \quad & \log_8 x = \frac{2}{3} \quad (\because \log_a x = y \Rightarrow x = a^y) \\ & x = 8^{2/3} \quad x = a^y \\ & x = (2^3)^{2/3} \\ & \boxed{x = 4} \end{aligned}$$

$$\begin{aligned} \textcircled{16} \quad & \log_x \left(\frac{9}{16} \right) = -\frac{1}{2} \\ & \frac{9}{16} = x^{-1/2} \\ & \left(\frac{9}{16} \right)^2 = (x^{-1/2})^2 \\ & \frac{81}{256} = x^{-1} = \frac{1}{x} \\ & \boxed{x = \frac{256}{81}} \end{aligned}$$

$$\begin{aligned} \textcircled{17} \quad & \log_{10} 4x = -\frac{1}{4} \\ & \frac{1}{4} \log_{10} 4x = -\frac{1}{4} \\ & \log_{10} 4x = -1 \\ & 4x = 10^{-1} = \frac{1}{10} = 0.1 \end{aligned}$$

$$\begin{aligned} \textcircled{18} \quad & \log_{32} x = 0.8 \\ & x = (32)^{0.8} \\ & x = (2^5)^{\frac{8}{10}} \\ & x = 2^5 \times \frac{8}{10} \\ & \boxed{x = 16} \end{aligned}$$

$$\begin{aligned} \textcircled{19} \quad & \log_x (0.1) = -\frac{1}{3} \\ & (0.1) = x^{-1/3} \\ & \left(\frac{1}{10} \right)^3 = (x^{-1/3})^3 \\ & \frac{1}{1000} = x^{-1} = \frac{1}{x} \\ & \boxed{x = 1000} \end{aligned}$$

$$\begin{aligned} \textcircled{20} \quad & \log_{10} (x-5) + \log_{10} 10 = 4 \\ & \log_{10} (x-5) + 1 = 4 \\ & \log_{10} (x-5) = 3 \\ & x-5 = 10^3 = 1000 \\ & \boxed{x = 1015} \end{aligned}$$

$$\begin{aligned} \textcircled{21} \quad & \log_4 (x^2+x) - \log_4 (x+1) = 2 \\ & \log_4 \frac{x^2+x}{x+1} = 2 \quad (x+1 > 0) \\ & \log_4 \frac{x(x+1)}{x+1} = 2 \\ & \log_4 x = 2 \\ & \boxed{x = 16} \end{aligned}$$

$$\begin{aligned} (22) \quad & \log_e x + \log_e (1+x) = 0 \\ & \log_e x(1+x) = 0 \quad (\log_a m + \log_a n = \log_a mn) \\ & \log_e (x^2+x) = 0 \\ & x^2+x = e^0 = 1 \\ & \boxed{x^2+x-1=0} \end{aligned}$$

$$\begin{aligned} (20) \quad & \log_b a^2 \log_c b^2 \log_a c^2 \\ & 2 \log_b a \times 2 \log_c b \times 2 \log_a c \\ & 2 \frac{\log a}{\log b} \times \frac{\log b}{\log c} \times \frac{\log c}{\log a} \\ & 8 \end{aligned}$$

$$\begin{aligned} (23) \quad & \log_8 x + \log_8 \left(\frac{1}{6}\right) = \frac{1}{3} \\ & \log_8 x \times \frac{1}{6} = \frac{1}{3} \\ & \frac{x}{6} = 8^{1/3} \\ & \frac{x}{6} = (2^3)^{1/3} \\ & \frac{x}{6} = 2 \quad \boxed{x=12} \end{aligned}$$

$$\begin{aligned} (24) \quad & \log_5 3 \times \log_3 625 \\ & \log_5 3 \times \log_3 5^4 \\ & \log_5 3 \times 4 \times \log_3 5 \\ & 4 \times (\log_5 3 \times \log_3 5) \\ & 4 \times 1 \text{ (1)} = 4 \end{aligned}$$

$$\begin{aligned} (25) \quad & \log_{60} 3 + \log_{60} 4 + \log_{60} 5 \\ & \log_{60} 3 \times 4 \times 5 = \log_{60} (60) = 1 \end{aligned}$$

$$(26) \quad \log_y x = \frac{\log_e x}{\log_e y}$$

$$\begin{aligned} (27) \quad & \log 360 \\ & = \log 2 \times 2 \times 2 \times 3 \times 3 \times 5 \\ & = \log 2^3 \times 3^2 \times 5 \\ & = \log 2^3 + \log 3^2 + \log 5 \\ & = 3 \log 2 + 2 \log 3 + \log 5 \end{aligned}$$